Name:

Reading Comprehension
Bi-Monthly Test 2

Here is a cat and here is a dog. The cat is little and
the dog is big. The dog wants to play. The cat can not play.
It is too little. We will play with the big dog.

Choose the correct answer.

1. The

is big.

a) rat
b) dog
¢) cat

2. The

is little.

b) rat
b) dog
c) cat

3. We will with the dog.

a) play
b) jump
c) run

4. What did the dog want to
do?

a) play

b) jump

c) run

5. Can the cat play?
a) yes
b) no

toLIVEWORKSHEETS



toLIVEWORKSHEETS



